XEHBERAL 10T L5 EBLHEALERRE

C

= =B

a EEEE

ME : EERENR @A ERE 1,ﬁ:;ﬁ"\ﬁf’ﬁ%“R§%EﬂﬂE%ﬁ.$%wEn i

_. 2ERYAREERSL  ENTFits %/ B
#ma% 355 IRAE. BeBET  HEARSME, £/ 8

I.Determine the Laplace transform and the associated region of convergence and
pole-zero plot for the following function of time: (20 points)

x(t)=eut)+eur).
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2.Determine the function of time, x(r), for the fo.llowing Laplace transform and their

associated region of convergence: ﬁgp— NRefs} >0 (10 points)
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3. Write down and prove time-convolution theorem for Laplace transform. (10 points)

4.Find the z-transform of the following sequence: (20 points)

x(n) = 2"u(n) + 3(%) u(n)
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EAW =18 F 224982 7 - (15 points)
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